
Lösungen zum Arbeitsblatt zu „7 Vektoren und analytische Geometrie in ℝ𝟐𝟐“ 
 
A1. D, F, A, E 
 
A2. 𝐷𝐷(6,5|6,5) 
 
A3.  
a) �𝐵𝐵𝐵𝐵�����⃑ � = �𝐶𝐶𝐶𝐶�����⃑ � = 8,94 LE  

b) 𝐶𝐶𝐶𝐶�����⃑ ∙ 𝐷𝐷𝐷𝐷�����⃑ = �−8
0 � ∙ � 0

−4� = (−8) ∙ 0 + 0 ∙ 4 = 0 ⇒ rechter Winkel  

c) 𝑆𝑆(2|2)  
d) 𝛼𝛼 ≈ 71,57°, 𝛽𝛽 ≈ 71,57°, 𝛾𝛾 ≈ 36,87° 
 
A4. 1. Zeile/1. Spalte und 3. Zeile/1. Spalte  
 
A5. 2. und 3. Zeile  
 
A6. ① 2. Zeile; ②  1. Zeile   
 
A7. A, C, F, E 
 
A8. 1. Zeile/3. Spalte  
 
A9. 1. Zeile/2. Spalte  
 
A10. 
a) 
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